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Q1 Fefafaa # ¥ e aRTEufaEr & RCAYH aRay # §aRa & 3R-9R diecar s w9 & gedr 7
In a RC series circuit, the voltage across the capacitor increases linearly under which of the

following conditions?

a. i |d & forar 7= anr fer §/Current drawn from the charging source is constant
b. 9l Fia ¥ T g afdg e $/Power drawn from the charging source is constant
¢ i Hid F FN-9R deedt R §/Voltage across the charging source is constant
d.smia?r # & &5 o A61/None of the above

Ans {1,3
X 2.b ELECTRICALROJGAR.COM
x&c
X 4.d

Question ID : 3499531822
Status : Not Answered
Chosen Option : --




2 G AEr @ A & v Q #eY wad far S &7

Q meter is used for measuring which quantity?

a.9mst/Charge
b gfdaran/ Impedance
c. AfFd/Power

d3uFd # & #15 o Ae1/None of the above
Ans X' 1.a

W 2b

x 3.c

X 4.d

Question ID : 3499531816
Status : Answered
Chosen Option : 4

Q3 3P cosx = sin 60 sin 30 + cos 60 cos 308, O x & #A & 9aT M0

Find the value of x. if cos x = sin 60 sin 30 + cos 60 cos 30

a. 30° ELECTRICALROJGAR.COM
b. 45°
c. 60°
d. 90°

Ans  of 1 4
K 2.b
X 3¢
X 4.d

Question ID : 3499531834
Status : Not Answered
Chosen Option : --




Q.4

Ans

s AC uitge & KVA/KW & He9rd ... 2/In an AC circuit the ratio of kVA/KW is

a. ufed roTieh/Power factor
b. 36AN (715) a0Tish/Load factor
. ¥ 30N/ Form factor

d. 5791 ¥ #% = =61/ None of these

X la
X 2.b
X3.c
o 4d

Question ID : 3499531781
Status : Answered
Chosen Option : 1

Q.5

Ans

wﬂﬂﬁwwamwﬁlmsﬁﬁwgﬁmmaamamm
g

An RL circuit has a power factor of % . If the frequency is doubled, what is the new power

factor?

=

ELECTRICALROJGAR.COM

£ =3 F
sl 1wl al-

o

Wia
X 2.b
X’&c
X 4.d

Question ID : 3499531813
Status : Not Answered
Chosen Option : --




O B ot facaaue & PR gent & @l mar 82

Which one of the following materials belongs to class B insulation

a. Y9 @is/Paper board
b. #A/Silk

c. HUH/Cotton

d. 579 & F5 A5/ None of these

Ans X' 1.3
X 2b
X3.c
o 4d

Question ID : 3499531774
Status : Answered
Chosen Option : 2

Q.7 e iCrehl & TRl :2: 330 9d 7 §1 ST 3o JACR 9 Taiterd far o § ot geEn i
60031 afg 3% Aot & waforg foram ST ot g aferer foraem &7

Three resistors have resistances in the ratio 1:2:3. When they are connected in parallel, the

effective resistance 1s 60Q.What 1s the effective resistance when they are connected in series?

ELECTRICALROJGAR.COM

a. 18002
b. 5400
¢. 6600
d. 7200

Ans X' 1.a
X 2.b
J&c
X 4.d

Question ID : 3499531811
Status : Not Answered
Chosen Option : --




Q.8

Ans

. FIfHT & Zfaoged =99 &1 399 ... T T o@1=T & fore & amar B

Flemings right hand rule is used to find the

a. H[Pﬁ &1 fean/Direction of rotation

b. Wt T feem/Direction of flux

c. emf & f@em/Direction of emf

d. aﬁ-anqu‘r &1 f&am/Direction of torque
x 1.a

5 2.b

J3.c
X 4d

Question ID : 3499531800
Status : Answered
Chosen Option: 1

Q.9

Ans

4 1Mux & @ ....... &/The output of the 4 to 1 Mux is

ELECTRICALROJGAR.COM

Question ID : 3499531845
Status : Not Answered
Chosen Option : --




Q.10

& ot & vads &§ sfOsaaiasgor gar &2

Which class of amplifier has maximum distortion?

a. A @/Class A
b. B d@1/Class B
c. AB @3/Class AB

d. C F/Class C

Ans X' 1.3

X 2.b

X 3.c

o 4d

Question ID : 3499531847
Status : Answered
Chosen Option : 4

Q.11

Ans

Sy feu oe gRwy F Fa F off 7 ann faaer &7 Aeaardier(G) wfaerr 1008

What is the current drawn from the cell in the circuit shown below. The galvanometer (G) resistance

is 100
gLECTRIEALROJGAR.COM
a. OmA
b. 0.5mA
c. 0.7TmA
d. 0.9mA

X la
X 2.b
X 3¢
o 4d

Question ID : 3499531815
Status : Answered
Chosen Option : 1




Q12 105x1954+2x195x5+ 25 A ........ &/The value of 195x 195 + 2x 195x 5+ 25 is

a. 39605
b. 40000
c. 40825
d. 36725

Ans X' 1.3
W 2b
XS.C
X 4.d

Question ID : 3499531830
Status : Answered
Chosen Option : 2

Q13 dg-Afeten #a= & fov Frawsr &1 faowor oF dad 3999 &7

Which type of distribution system is most suitable for multi-storey building

a. @i A=/Raising mains
b. ¥9a dat/Busbar chamber
¢. ¥ fagror/Radial distribution

d. 39dFa # @15 oft 76/ None of thelslk@TRICALROJGAR.COM

Ans o 1 4
X 2.b
X&C
X 4.d

Question ID : 3499531802
Status : Answered
Chosen Option : 3




Q.14

Ans

ﬁi’ﬁ ........... udie & giaf=Teea &tar &/ ﬁ Figure represents the symbol of
a. i/ Buzzer
b. G&/Bell

c. HAEHGIA/ Microphone
d. gfaga tieean/Dipole antenna

X1.a
W 2b
XS.C
X 4.d

Question ID : 3499531771
Status : Answered
Chosen Option : 1

Q.15

Ans

2.4, 8. 40 &7 514l 9§ ..... & 51°' term of the progression 2. 4. 8. .. is

a 48

b 30

¢ 31

d.2%2

X1.a
X 2.b
W3¢
X 4.d

ELECTRICALROJGAR.COM

Question ID : 3499531831
Status : Answered
Chosen Option : 3




Q.16
AT A AT §OF A R SR & e @ 39 R s g7

What type of reactor is used in Tarapur atomic power plant?

a. 7ifad #gor frreey/Molten salt reactor
b. ¥ I« Rd=et/Boiling water reactor
¢. BIFC 7ggia Rderey/Fast neutron reactor
d. =7/ & =% st agl/None of these

Ans X' 1.3
W 2b
X3.c
X 4.d

Question ID : 3499531807
Status : Answered
Chosen Option : 3

Q.17  g.ufRTe &1 GaT E=1 & ToT 3 908707 IUERT & UAT & Sran € 3T 9d dieear & v oan/T &1
argdidhel natcar fEm o Fiatad 7 R s-afoRta A Sar 82

Earth tester equipment is used to find the carth resistance and took current readings n times for a

fixed voltage. Which of the following is considered as the earth resistance?

ELECTRICALROJGAR.COM

a. n Uradid # HaF &H ufate/Lowest resistance in n readings
b. n T@die A I Ioa Tiorel/Highest resistance in n readings
c. n 95diE & HEd Ffata/Average resistance of the n readings

d. 59 3T HRESY FAUGAE & HiEd/Average of highest and lowest readings

Ans X' 1.3
W 2b
X’&c
X 4.d

Question ID : 3499531803
Status : Answered
Chosen Option : 4




Q.18 FaaR FIiToe ae T S5 & THRAINToE daeos # gRafdd f&ar sar &1 o5 & o &
FIF @I AT § 3R GAHT & G aered F aer & ®1E gl A8 @ o & Raw & Afg
F O ©ET & iR & 30T a2 R

A rod with circular cross section is converted to a rod of square cross section. The length of the rod
is maintained and no material is lost while the reshaping. What is the ratio of the resistances of the

rods measured along the length.

L

b1
=2

d. 3‘!’{53? # A 5 & A5/ None of the above

Ans X' 1.3
X 2.b
X 3¢
o 4d

C.

R oy

Question ID : 3499531821
Status : Answered
Chosen Option: 3

Q19 v gaigw Aoh FateE G0 F m GEaE § 3R goaw qFT # Aol #F o dw ) 3R 9% & &
AR gfeRie ¢ 3 s afeRier R &, @t afSeaeT erfga 3ioRoT & fIe @ adgeh?

In a parallel series combination cells. th“ET_E@WI@RE‘R@% A:Flz LtCﬁle b

1s the internal resistance of each cell and R 1s the load resistance, what 1s the condition for maximum

power transfer?

amPR=nr
b.R=nr
c. R=m.r

d.R=mnr

Ans  of 1 4
X 2.b
XB.C
X 4.d

Question ID : 3499531805
Status : Answered
Chosen Option : 1




Q20w o r ofiarn, e Rfine Mg [ W TE HORE & qEe & g 1 3R 3% ATh # Ss
Se, df JAer A a7

Impedance of an inductor is twice that of a capacitor at a particular frequency f. If they are

conuiected in series. what is the resonant frequency?

@ %
V2 f
©2f
(@ 4f

Ans o 1 4
X 2.b
X3.c
X 4.d

Question ID : 3499531823
Status : Answered
Chosen Option : 3

Q21 4ov3ter dreen ¥ g v 3 o oRE A A @ 4003RRIE & @ & ST ST B

e # sfig af@Fa = &7

A half wave rectified sine wave having average voltage of 40V is passed through a 40 resistor.
What is the power dissipated in the resistor.

&, 40W ELECTRICALROJGAR.COM

b. 20W
c.O8.5W
d. 3L.4W

Ans X' 1.3
X 2.b
3¢
X 4.d

Question ID : 3499531820
Status : Answered
Chosen Option : 1




Q22 FryrHfaat 9T giest T ... & FuR=T & v GFar o §

Soldering is done on wire joints to mmprove

a. Irefehdl/Conductivity
b. 3Tde 9ided/Bonding Strength
c. degdl/Ductility

d. a=te A/ Tensile strength

Ans X' 1.3
X 2.b
e
X 4.d

Question ID : 3499531810
Status : Answered
Chosen Option : 1

Q23 faw aw s X ol U dedEel AIET & e #F fade L. aRafdd w8

The variation in excitation of a synchronous motor running with a given load changes

a. AT &7 afed Avnis/Power factor ELEGTRICALROJGAR.COM

b. AT & d7/Motor speed

c. HIeT #$T quged dleear/Applied voltage of the motor
d. 3udad |e/All the above

Ans  of 1 4
X 2.b
XS.C
X 4.d

Question ID : 3499531790
Status : Answered
Chosen Option : 4




Q24 fegauer e WWOT AleY & Gau A Pt & ¥ S 96 96 &

Which of the following is not correct for squirrel cage induction motor?

a. 3T gRHAA .}IT‘EI:JIHHigh starting torque

b. leX g Tg ®Y T AT HTR?:{ e g &/Rotor bars are permanently short-circuited
¢. FTEROT ATV Simple construction

d. 9T & AT Jex Tz F RE@eE ¥ AT 6T S Fhar

Rotor winding cannot be connected to rheostat for starting

Ans X' 1.3
X 2.b
X3.c
o 4.d

Question ID : 3499531777
Status : Answered
Chosen Option : 4

Q.25 T 31 gRAwAT 1 gsAEl W 10006y 3R gfadas o S06Y &1 usAd ared @ e dieear 200
V(RMS) 31X w5 gicdrer 531d §1 a9 ofdd &1 9o Hiaw)

An ideal transformer has 1000 turns on its primary and 50 turns on its secondary. The driving

voltage in the primary side is 200 V (RMS) and load resistance is 5 Ohm. Calculate the input power.

- 10w ELECTRICALROJGAR.COM

. 20W
c. 30W
d 40W

Ans X' 1.3
2o
X&c
X 4d

&

o

Question ID : 3499531787
Status : Answered
Chosen Option : 2




Q.26

afiger faedcs & SlagRoT 67T ... $/Rupturing capacity of circuit breaker is
a. YUY faTdes gaml Hald= & ol Heheydrell ATEhdd dieedl
The maximum voltage the circuit breaker can interrupt
b. aftTy faedes carr aua= $r I Feaaren fead anr
The maximum current the circuit breaker can interrupt
c. IRy Taoies canT FeaEs F1 =1 Fhoare! HiEdaA afFd
The maximum power the circuit breaker can interrupt
d. aftgyr fawdes garu fauas & o Faearen AfOeas &woT e

The maximum leakage current the circuit breaker can mterrupt

Ans x 1.a

X 2.b

( 3.c

X 4.d

Question ID : 3499531804
Status : Answered
Chosen Option : 4

Q.27

Ans

XILPE &hdel &l Adeld ...... #/XLPE cable means

a. wia @ uife tueE wee (el EGERIGALROJGAR.COM
b. FIEACH YU Vel dhaer/Cross Linked Paper ethylene cable

c. Uifel Qorell hdel &1 UFH-EaU/X — Layers of Ploy Ethylene cable
d. 5 & &g 8 S8/ None of these

< la

5 2.b

X3.c
o 4.d

Question ID : 3499531809
Status : Answered
Chosen Option : 2




Q.28 HYOF dis W UE AT & Al e 400 W §) 31 ds W dlE grEfhaeT 87
A transformer has 400 W as iron loss at full load. What is the iron loss at half load.
a 50w
b. 100 W
c. 200 W
d. 400 W

Ans X' 1.3
5 2.b
X3.c
W 4d

Question ID : 3499531785
Status : Answered
Chosen Option : 4

Q29 e o & T qgad ao ... %/The colour used for warning sign is
a. @rell @Sy Aigd dren gesfA 3R gclie

Yellow background with black border and symbol
b. @rer arst afea e geesid 3R weli

Yellow background with red border and symbol
o, PreT AT AT whe TeeHiE %E@JRICALROJGAR.COM

White background with black border and symbol
d. ¥Ter 91SY Aigd Ahe grefA 3R TelE

White background with red border and symbol

Ans o 12
X 2.b
X’&c
X 4.d

Question ID : 3499531772
Status : Answered
Chosen Option : 1




Q.30

Ans

feFfeiad # &= ereer o wfad ole # FE HLdr §7

Which of the following works with nearly zero power factor

a.9%0T da¥/Induction cooker
b.améred d9/Incandescent lamp
¢. 9T A/ Induction motor

d. 3% @efi/All of the above
X 1a

W 2b

X3.c
X 4.d

Question ID : 3499531817
Status : Answered
Chosen Option : 3

Q.31

Ans

. 50 Hz Heen§ & |12 13 1w 950 rpm W Aeidl 6-gdl, 3ol Wk #ie &1 gvid anr i & 82

What is the rotor current frequency of a 6-pole. 3-phase induction motor running at 950 rpm while

connected to 50 Hz supply. ELECTRICALROJGARCOM

a. 50 Hz
b.47.5Hz
c.52.5Hz
d.25Hz=

x1.a
K 2.b
X?).C
o 4.d

Question ID : 3499531798
Status : Answered
Chosen Option : 4




Q.32

U ITarEl gEEAT & WAL F ufd $Y ¥ dieedngiddadd 9fd Y 9T dieedr........ gl

The voltage per turn of the primary of a step up transformer 18 ===mm-mnu- the voltage per turn of the
secondary.

a. & TA/Same as

b. I &/ More than

¢. ¥ FA/Less than

d. THEEHT U §AT & FAR/Equal to transformer ratio times

Ans ( 1 a
X 2.b
x 3.c
X 4.d
Question ID : 3499531786
Status : Answered
Chosen Option : 1
Q.33 siqdel @ g5 ... # Faifed fhr S 8/Windings on interpoles are connected in
a. Bles & A1 A0l #A/Series with field
b. Bies & AT AR #/Parallel with field
c.had & AT A0 #H/Series with armature
d. @ & A e #/Parallel witednkmid RICALROJGAR.COM
Ans

X1.a
X 2.b
Wsc
X 4.d

Question ID : 3499531779
Status : Answered
Chosen Option : 3




Q.34

Ans

A Ry are oftgy & R & 7gaaw A9 L. § S 9 S A S waE)

In the circuit shown below the minimum value of R that will turn on the Zener is

v A §R

a. 3.15K
b. 2.6TK
c. 434K
d. 523K

X la
2o
X 3¢
X 4.d

Question ID : 3499531837
Status : Answered
Chosen Option : 4

ELECTRICALROJGAR.-COM

Q.35 TS TS ¥ & UFETER =eT garar 0.85%1F s T & g sitwa e deear 2.1V

Ans

YT F & S sitaa effae dieear 2.55 V &1 are-ger catar #ar &7

Ampere hour efficiency of a storage cell 1s 0.85. Average terminal voltage during discharging is 2.1

V and average terminal voltage during charging is 2.55 V. What is the Watt Hour efficiency?

a. 0.65
b. 0.7
c. 0.75
d. 08

Xla
2o
X3.c
X 4.d

Question ID : 3499531782
Status : Not Answered
Chosen Option : --




Q.36 i Ot FT T ufEar F g 6u¢ Fit AT F Sl Femf # 10 VE 12Vas §1 e g adr
£1 aeterl dieedr 15V #1 v Aot gaifea afades &t 1A i R anr gae @a & e @1Ray
FARNTST fomam ST §1 gel ST Sid @ e Sl AT 5T a7 A &7Ad Sl fhant §7

During a battery charging process. the emf of the battery increases from 10 V to 12V linearly over
a period of 6 hours. The charging voltage is 15V. A series connected resistor is continuously
adjusted to maintain a constant current of 1A. What is the energy wasted in the system assuming

ideal charging source and ideal battery.

a. 24Wh
b. 18Wh
c. 30 Wh
d. 398ad # ¥ #5 sff 78/ None of the above

Ans  of 1 4
5 2.b
X?).C
X 4d

Question ID : 3499531827
Status : Answered
Chosen Option : 2

Q.37 Trafafad veret & fraer ga 3o fafese ufgwer 2

Which one of the following materials has the highest specific resistance?

a. =Qy/Silver ELECTRICALROJGAR.COM
b. #=/Gold

c. @&/ Lead

d. sEaTd/Steel

Ans X' 13
X 2.b
X 3.c
o 4d

Question ID : 3499531773
Status : Answered
Chosen Option : 3




Q.38

Ans

AT &7 9ar o@n¢/Find the mean of

x |4 5 6 7 8 9

a. 6.5
b. 7.0
c. 3.0

d. =% A &5 sft A8/ None of these
X la
X 2.b
X 3¢
o 4d

Question ID : 3499531832
Status : Answered
Chosen Option : 2

Q.39

Ans

UF AT AT FSeil A fohdel FHIGT 9T 81T 67

How many parallel paths are there in a triplex wave winding?

ELECTRICALROJGAR.COM

b. 3
(]
d. 6

Xla
5 2.b
X3.c
W 4d

Question ID : 3499531794
Status : Answered
Chosen Option: 1




Q.40 o ymamER Er Y s S, diEE 48T 3 ETEAT 60 mo¥| 480 e’ SHAT F T EHr F1 U
T & AHA RN frar amm) 7t 61 &ad & 9 @
A rectangular tank has 5 m length, 4 m width and 60 m® capacity. A small model of the tank is
made with a capacity of 480 cm’. Find the length of the model.

5
a.—cm
8

b. 5 cm
c. 10 cm
d. 50 em

Ans X' 1.3

Question ID : 3499531835
Status : Not Answered
Chosen Option : --

Q.41
........ HI Rafcd Y §U T SKIT Ale HETd FAbd & S dehdr Bl

The speed of a d.c. motor can be controlled by varying

a. #q9gFa dieear/Applied volpge CTRICALROJGAR.COM
b. W wid ga/Flux per pole

c. Hhad (H#HEY) gy &1 giater/Resistance of armature circuit

d. 3‘?1'\':‘_1'3?{ Tei/All the above

Ans X' 1.3
X 2.b
X 3.c
o 4d

Question ID : 3499531796
Status : Answered
Chosen Option : 2




Q.42

Ans

FEOQT AleT &l ddel 3o o INOMHEaRY ... §idl &

Wave excitation of a stepper motor results in

a. 3 FGEI/Half stepping

b.g&H H9E/Microstepping

¢. affg A9 ®v/Increased step angle
d. 578 & F% s A&/ None of these

W ia
K 2b
X?).C
X 4.d

Question ID : 3499531791
Status : Answered
Chosen Option: 3

Q43 vi=VmSinot & faT S Rr v oy & B S deear Vo a4 22

Ans

What 1s the output voltage Vo for the eircuit below for Vi=VmSinet

ELECTRICALROJGAR.COM
GTRICALROJGAR.

A

P
b

a. Vm

b. &lﬂﬂ'zcm

c.2ZVm

Xla
5 2.b
e
X 4d

T

Ve

|

Question ID : 3499531839
Status : Answered
Chosen Option: 3




Q.44 facga-3raaea A FRACEA-HITCT ¥ §1F a6l IRT I §F S, ) 9id dehvs Seldels o #Hed

In electrolysis, if the current passing through the electrolyte doubles. the total mass of ions

liberated at the electrode in every second
a. U TA TBdl 5/Remains the same
b. GIIAT &7 AT &/Becomes double

¢. IR = &F STar 8/Becomes four times

d. 398ad # ¥ F5 #f1 7T None of the above

Ans X 1a
W 2b
X&C
X 4.d

Question ID : 3499531824
Status : Answered
Chosen Option : 2

QA3 s mmar e canr Falt wE A WA R T &1 s & Bl fig ® e ok s s

&1 fgem & T &1 For 30°% 60°7F Fgerr §, o weifta 7 aftade & I F4 8

A surface 1s illuminated by a light source. If the angle between the normal at a point on the surface

and the direction of luminous flux changes from 30° to 60° what is the ratio of change in the

Mliitibatian ELECTRICALROJGAR.COM

a. v’§:1
b @i
c. 4:1

d V2:1

Ans  of 1 2
X 2.b
X 3¢
X 4.d

Question ID : 3499531808
Status : Answered
Chosen Option : 1




Q.46
wF RLC ofay # ufFa spons 4/58) afey ufEa sifoerd afFa &1 sqoa = gemlaemfEa

TUTF T5%E S &, A FH A FFA Fm?
In an RLC circuit, the power factor is 4/5. What is the ratio of the active power to the reactive

power? If the power factor becomes 75%, what happens to this ratio?

a. RIS IIES:3 ARTiEAiEuadTsaguiaidderums:4 v

Initial ratio 5:3 and ratio changes to 5:4 after power factor change

b. RIS 4R s uRad s e uRaEtiasmaaEs: 3 gm

Initial ratio 3:4 and ratio changes to 5:3 after power factor change

c. WRRRBIEUES:3 siriEmuisuRadTrrarguteatdasmars:4 g

Initial ratio 5:3 and ratio changes to 3:4 after power factor change
d. US4 3 HRfEUie uRa i aguRaiasmguas 48
Initial ratio 4:3 and ratio changes to 3:4 after power factor change
Ans x 1.a
X 2b
x 3.c
o 4d

Question ID : 3499531814
Status : Not Answered
Chosen Option : --

Q47 | o7 # fe@w v o9y &1 e Y. &
The output Y of the circuit sholol s GIRIGALROJGAR.COM

A
1 =,
i e ] 1
B 2_] 5 33_ ¥
1 -
,— 2

&

D e =
4\ e 1
E

a. A+B+C + DE

b. ABC+D+E

c. ABC+D+E

d. ABC+D+E

Ans x1_a

X 2.b

X3.c

o 4d

Question ID : 3499531844
Status : Not Answered
Chosen Option : --




Q48 H qe faegatie &1 3faeda gifeid daAs faa=r 87

What 1s the maximum safe temperature of class H msulation

a. 105 °C
b.130°C
¢ 55T
d. 180 °C

Ans X' 13
X 2.b
X3.c
o 4d

Question ID : 3499531778
Status : Answered
Chosen Option : 4

Q.49 1 op0fTETa FT TF W, S0QURET F U FORT AR S00F UF Ul I AT # Sher = &
qﬂqara:rarﬁmalmﬁ‘w%?

An inductor of reactance 1000, a capacitor of reactance 50Q) and a resistor of 500 are connected

in series. What is the power factor of the circuit?

ELECTRICALROJGAR.COM

0 g P

(SR ﬁﬂ‘»—n a-||._. :‘ﬂ|u

&

Ans Jla

X3.c
X 4d

Question ID : 3499531818
Status : Answered
Chosen Option : 2




Q50 490 aifiry (F13ex) ¥ Toala & v fGaer oy wodh 1 Fwea g 87

A divide by 490 counter requires how many flip flops?

a7
b. 8
&
d. 10

Ans X' 1.3
X 2.b
3¢
X 4.d

Question ID : 3499531841
Status : Answered
Chosen Option : 1

Q51 frg ¥ ol dleear Vo &1 AT o9MU/Find the output voltage Vo in the figure

20k

av_ Sk ""YELUECTRICALROJGAR.COM

:;:’V W -

—

4y Vo

+10v

a. -12V
b. 12V
c. -10V
d. 10V
Ans X' 13
X 2.b
x 3.c
o 4d

Question ID : 3499531850
Status : Not Answered
Chosen Option : --




Q.52

Ans

SLI a<fr o S, L 3Rl &1 figed ....... el

In SLI Battery, S. L and I stand for

a. d13139T, olsidal, Sa=de=/Sounding. Lighting. Injection

b Ferféar,asfear, seeires/Starting, Lighting, Ignition

c.q®, disc dge, SediA-1a=/Safe, Light weight, Illumination
d.398FT # A @15 8 8/ None of the above

X la
2o
X 3¢
X 4.d

Question ID : 3499531826
Status : Answered
Chosen Option : 2

Q.53

Ans

U T Torehl Wdedd arg &, 1 3Ad Yidaren & diecaArdl & @ st 1 §) dreesdr T
YR AT F Uredie fE@dr §1 R Siel & @i $1 g &1 g AR Tereh & Getdl arthel

T R & A e ETECTRICALROJGAR.COM

A capacitor with air as dielectric is connected to a voltmeter of infinite impedance. The voltmeter
reads a nonzero value. If the distance between the plates is doubled and the effective area of the

plates is made half. what happens to the voltmeter reading?

3.0 FA I5em/Remains the same
b.u% =t gem/Becomes one fourth
c. IR AT &R/ Becomes four times

d. 3T grem/Becomes half

X1.a
X 2.b
Wsc
X 4.d

Question ID : 3499531819
Status : Answered
Chosen Option : 1




Q.54 ?ﬁ?ﬁ?ﬂ@ﬂmﬁﬂqyﬁﬂ;ﬂﬂm}lﬁl FEABN HT AVAG fbeal 57

Ans

Sum of three consecutive even integers is 24, What is the product of the numbers?

a. 240
b. 320
c. 430
d. 520

X1.a
X 2.b
Wsc
X 4.d

Question ID : 3499531829
Status : Answered
Chosen Option : 3

Q.55 200Vw Us 9w ST 100AZAT B1TfE ofT & ufadrer 3T saw (3R ufasrr saeso O3

Ans

0.10%, Fr 3earfET dieedT &7 9T e
A shunt generator delivers 100A at 200V, Find the generated voltage if shunt field resistance and

armature resistance are 50 Qand 0.1 Q respectively.

a.200V
b. 210V

c. 200.6V ELECTRICALROJGAR.COM
d.2104V
x 1.a
5 2.b
x 3.¢c
W 4d

Question ID : 3499531793
Status : Answered
Chosen Option : 4




% Grafef@a # @i v dloear =afia aEa =8 82

Which of the following 1s not a voltage controlled device?

a. MOSFET
b. JFET

c. IGBT

d. BJT

Ans X' 1.3
X 2.b
X3.c
o 4d

Question ID : 3499531843
Status : Answered
Chosen Option : 1

Q57 Fg 95 sFa A & ImAfd T S §, & faegd-svee & 99 .

When a lead acid cell is charged the density of the electrolyte

2.6 et & 3w & et S perqate e B SR 'COM

b.9ger && gar & 3T T goar §/First decreases and then increases
c.dcar §/Inereases

d. & gIar §/Decreases

Ans o 1 2
X 2.b
X’&c
X 4.d

Question ID : 3499531825
Status : Answered
Chosen Option : 2




Q'“WW25+15=433¥8§‘@#3¥WWMHW ........ £

Ans

The base of the number system for the addition operation 25+15=43 to be true is

[ B -

h

Xla
K 2.b
W3¢
X 4d

Question ID : 3499531842
Status : Not Answered
Chosen Option : --

Q.59

Ans

40SWG d@ dR &I Afewiche Tt €RT o000 ... ©

Approximate fusing current of 40SWG copper wire 15

a.
b.
€.

d.

JA
SA
i ELECTRICALROJGAR.COM

10A

W ia
K 2.b
X&c
X 4.d

Question ID : 3499531776
Status : Answered
Chosen Option: 1




Q.60

v 3T At Sefr F9teT & dieear FOaET 59T L BT B

In an overcompound d.c. generator, the voltage regulation is always

a. &=1TcH®/ Positive
b. HUTcAS/ Negative
c. QLF'I."Zern

d. Fag (FFW) 9RT W T34 F3R Far §/Sign depends on armature current

Ans X' 1.3
v 2b
X 3.c
X 4d
Question ID : 3499531795
Status : Answered
Chosen Option : 1
Q.61
f&w =10 FegAE Aol R 9 &t fAwfa #7Et §/The given truth table represents which gate
A B X
0 0 1
0 1 0
1 0 0
1 i IELECTRICALROJGAR.COM
a. NOR #2/NOR gate
b. NAND #2/NAND gate
c. THAes0OR/Exclusive OR
d. vHfAssNOR/Exclusive NOR
Ans X 1.a
X 2.b
X 3.c

o 4d

Question ID : 3499531848
Status : Answered
Chosen Option: 3




Q62 ) ey wey & Prlr @ wa (eee) A 3mgf SKHz §) scemehar A Rafa D e weig #r
gt o HHA B HEh ]

The frequency of the signal at the output of the D flip flop is SKHz. The frequency of the signal at
the clock of the rising edge triggered D flip flop is

Clack a |
— Clk | Output

a. 5SKHz

b. 2.5KHz
c. 10KHz
d. 20KHz

Ans X' 1.3
K 2.b
(3‘0
X 4.d

Question ID : 3499531849
Status : Not Answered
Chosen Option : --

Q.63 va wuif @ &4 docan d & ar @nElEEGT RIGAEROIGARIGOM
Aoft # FsT ATe A gEerEEIRT F FOfdd 9wt & gem?
A capacitor is connected to a dc voltage source. If another capacitor of same value is connected
in series, what happens to the charge stored in the first capacitor?
a.Uch GAR G/Remains same
b.gI B/ Becomes double
¢.UF Tiarg gem/Becomes one fourth
d .3 §em/Becomes half

Ans X' 13
X 2.b
X3.c
o 4d

Question ID : 3499531812
Status : Answered
Chosen Option : 4




Q.64 i 99 GRERHT W W 50 ...

Ans

Damper winding on salient pole alternator is

a. =T Fseld & qrY #oft 3 SsT Sar §/Connected in series with armature winding

b. 3mf=R Fsel & AT TAT H ST ST &/ Connected in parallel with armature winding
c. gd % 9 Yo faar Sar 8/Provided on the pole face

d. 3@3?1’ #A ¥ F5 Aei/None of the above

X la
X 2.b
W 3c
X 4.d

Question ID : 3499531792
Status : Answered
Chosen Option : 1

Q.65

Ans

gTiieRdT &1 9aT &0 & U 3 ey 7 53tfaan o

Find the probability that there are 53 Sundays in a non-leap year

a. 53/365
b. 1/365
c. 52/365
d. 1/7
X 1a
X 2.b

X3.c
o 4d

ELECTRICALROJGAR.COM

Question ID : 3499531833
Status : Not Answered
Chosen Option : --




Q.66 TRl FAGY g & AT 9T FeNet F99 39GEd 61d & a3 alecal RO . BT &

Ans

Shunt generators are most suited for stable parallel operation because their voltage characteristics
is

a. f@&/Linear

b. Fa@HA/Identical

c. Uredl/Dropping

d. Iearrrefier/Rising

Xla
5 2.b
W 3c
X 4.d

Question ID : 3499531799
Status : Answered
Chosen Option : 1

Q.67

Ans

U gt g gfed & AROR 9 e sEes & 9EE . B

The function of snubber across a power switching deviee is to
a. dV/dt I ge/Increase dV/dt

b. dU/dt &t ge=/Reduce dI/dt

ELECTRICALROJGAR.COM
c. dV/dt &t Ta=A1/Suppress dV/dt

d. 3udad # ¥ F15 off A8/ None of the above

x1.a
K 2.b
(3‘0
X 4.d

Question ID : 3499531846
Status : Not Answered
Chosen Option : --




.68 5k ofRrts ¥ 2R SEAaTe UNT & A & TAT @)

Find the value of the current through 5k resistor.

a. 2.34mA
b. 2.88mA
c. 2.94mA
d. 3mA

Ans X' 13

X 2b ELECTRICALROJGAR.COM

J&c
X 4.d

Question ID : 3499531836
Status : Not Answered
Chosen Option : --




Electrolyte used in nickel cadmium battery 1s

a. KOH

b. H2S04

c. NAOH

d. Diluted HC1

Ans  of 1 4
X 2.b
XB.C
X 4.d

Question ID : 3499531784
Status : Answered
Chosen Option : 3

Q.70 2%+ y? + 4x + 2y + 4 = 0 AT carwr gfaffeee & SeEmEigT #1 B &

What is the radius of the circle represented by the equation x2 + y2 +4x +2y +4 =10

a. 1

b.2 ELECTRICALROJGAR.COM

c. 4
d. 10

Ans o 12
X 2.b
X3.c
X 4.d

Question ID : 3499531828
Status : Not Answered
Chosen Option : --




Q71 R arw oftwer & B=90 3iXVbe=0.7VE| TN 9T % # F Tl FMT|

In the circuit given below. f=99 and Vbe=0.7V. Find the value of collector current.

4K

L

30K

Tt

15V
BV =

4K

a. 0.99mA
b. 0.95mA
c. 0.92mA
d. 1.04mA

Ans  of 1 4
K 2b
X?).C
X 4.d

Question ID : 3499531838
Status : Not Answered
Chosen Option : --

FELECTRICALRO.I AR .COM
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Q.72
uF A 2w Aey 9 Ao oRET . FH g #ma F e R e )
Retardation test on a d.c. shunt motor is used for finding ------losses
a. A#E/Copper
b. @ Iron
c. T¥o1/Friction

d. b. & c. 2=l/Both b. & c.

Ans X' 1.3
X 2.b
X 3c
o 4d

Question ID : 3499531797
Status : Answered
Chosen Option : 3




Q.73 v gEwiAT giadas f 106 & @ 100 mWh(TEsae) &1 v Saehd wiad J5d1 &1 giadas
&1 YT emf FrmsAE & GReel FifsTTiEcers 3gfd 50 Hz &1
A sinusoidal flex of 100 mWb (maximum) links with 10 turns of a transformer secondary. Calculate

the rms value of the induced emf in the secondary. Supply frequency is 50 Hz.

a. 222V
b. 444V
c. 666V
d. 888V

Ans  of 1 4
X 2.b
X 3¢
X 4.d

Question ID : 3499531788

Status : Answered

Chosen Option : 1

Q74 frafafi svwml # & frad g & fre LAvh $MCB &1 o761 39 & 35 e e &2

L series MCB is mainly used to protect which of the following equipment?

a. EHWAir conditioner
b. #Arev/Motor

cAMFUGeyser
d. Mrariet/Refrigerator

Ans X' 1.3
X 2.b
Wsc
X 4.d

ELECTRICALROJGAR.COM

Question ID : 3499531801

Status : Answered

Chosen Option : 1




Q75 1S 1293-2019%F TR AT dleed ....... d Bl

According to IS 1293-2019, the rated voltage 1s up to

a. 230V
b. 240V
c. 250V

d. 3% & IS =51/ None of these
Ans X' 1.3

X 2.b

o3¢

X 4.d

Question ID : 3499531775
Status : Answered
Chosen Option: 3

Q.76
fFfafaa # ¥ 79 o fgseall & aF & S= =14 87

Which of the following 1s known as metal rectifier

a. fafes =are/Silicon diode ELECTRICALROJGAR.COM

b. 7| iz s@E/Copper oxide diode
c. g 3f@ =@is/Gas tube diode
d. 39 @ %1§ 7 7/ None of these

Ans X' 1.3
2o
X3.C
X 4.d

Question ID : 3499531783
Status : Answered
Chosen Option : 2




Q'”.Rrﬂ!rﬁqaamﬁaaﬁa:ﬁﬁwwmﬁwm%?

Which form of energy is utilised in tidal power plants.

a. §HAT Al &7 a1fdsT Fai/Kinetic energy of sea water

b. HAEI 9 &1 FeAfdst FoAl/Potential energy of sea water

c. FAAT =l &I a3 feufas 4, @Fi/Both kinetic and potential energy of sea water
d. FT ST &7 AT I/ Wave energy of sea water

Ans X' 1.3
5 2.b
W 3c
X 4.d

Question ID : 3499531806
Status : Answered
Chosen Option: 3

ELECTRICACROJGAR.COM
AN \ Vo

a. 3t 9R& fheed/High pass filter
b. d% URe Theet/Band pass filter
c. d5 Reae TWheet/Band reject filter

d. 379 9% fhect/Low pass filter

Ans X' 1.3
X 2.b
X 3¢
o 4d

Question ID : 3499531840
Status : Not Answered
Chosen Option : --




Q.79 o wafir % RAfSET orcr & 0 B AT Gaed o S &, A 3EH0 07 ... 7 aRafdT giar

When moisture content of silica gel in a breather gets saturated. its colour changes from

a. aTedY & Am/Pink to Blue
b. =rem & Temd/Blue to Pink
c. drelm & e/ Yellow to Blue
d. arerm & drenl/Blue to Yellow
Ans X' 1.a
W 2b
x 3.c
X 4.d

Question ID : 3499531789
Status : Answered
Chosen Option : 2

Q80 5o Sterex # FARFATE ... & o §/Commutator in DC generator is to

a. TIA H3eqdT Yo &=t/ Provide smoother output
b. ot wdr 1 S & aftafda &=/ Convert the induced AC into DC
c. g & THfe F &A FL/Reduce sparking in the brush

d. g% & FI5 7ei/None of these E] ECTRICALROJGAR.COM

Ans X' 1.3
2o
X 3¢
X 4.d

Question ID : 3499531780
Status : Answered
Chosen Option: 3




